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PART 1: ANSWER ALL QUESTIONS IN THIS SECTION.
CIRCLE THE CORRECT ANSWER. { 20 Marks)

1. Velocity is defined as :

A. Distance moved in unit time
B. Displacementin unit time
C. Acceleration in particular direction
D. Energy transferred per unit time.
2. The quantity that tells how hard a force acts is known as :

A. Momentum
B. Impulse
C. Moment
D. Torque
3. In{aunching a rocket , hot gases of high pressure is ejected downwards and as a result
the rocket moves upwards. This is an exampie of Newton's law of motion.
A. First
B. Second
C. Third
D. Fourth.
4. You are sitting in a car.lt stops suddenly and you fall forwards. This is an example of your:

A. Momentum
B. Inertia
C. Impulse
D. Tarque

5. When the forces acting on a moving body are balanced the net force becomes zero. As a
result the body will :
A. Mova with an increasing velocity
B. Move with decreasing velocity
C. Move with constant (Unifonn) velocity
D. Stop moving

3 9 SLNECB, 2017
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6. A buliet i= fired with an initial velocity of 50 /s at an angle of 30° to Ihe horizortal. What
is the horiaontal component of bullet's initial velacily?
A, 15 nvs
B. 25 m/s
C. 443 m/s
D. 3¢ m/s
7. Ahmed whirls a stone along a horizonta! circle with a string. If the sting breaks, the stone
will
A Move inwards atong the radius
B. Continue to move along the curve
C. Move along the tangent 4
D. Move cuiwards along the radius )
8. Sl unil of angular velocky is:
A. Newton per radian ¢
B. Radians per second
C. Radians per meter
D. Radians per second squared

9. A gid climbs to the top of high mountain in 15 minutes. it she does 180000 J of energy
against gravity, what average power is developed?

A, 50 watts
B. 100 watts
C. 120 waits
D. 200 watls

10.F= - Kx 8 mathematical expressian for :
A, Newton's second law of motion
8. Hooke's law
C. Snelfs taw
D. Lenz’s law

4 © SLNECB, 2017
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11. Sky waves are used to carry infarmation over long distances with the absence of
satellites. This is because sky waves :
A. Can pass through vacuum
B. Are reflected by ionospheres
C. Can be absorbed by airparticles
D. Are electromagnetic waves
12.R.F current is produced by an oscillatory circuit. This contains:
A. Amplifier and capacitor
B. Transistor and ¢apacitor
C. Capacitor and coil
D. Capacitor and diode
13. Process of converting electronic data or information radio systems into a form that people

can understand easily is known as:

A. Encoding

B. Decoding

C. Translating

D. Data organization

14. Which property of waves is illustrated by the diagram :

A. Reflection

B. Refraction

C. Diffraction

D. Interference

15. A nuclide of mass number A emits an alpha particle . What is the mass number of the
resulted nucleus interms of A:
A A-2
B A-4
C.A-8
D. A+1

S © SLNECB, 2017
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16.Which of the following is NOT nuclear radiation *
A. Alpha rays
B. Beta rays
C. X.rays
D. Gamma rays
17. A radioactive sample has half iife of 3 months. what fraction of the sample remains
undecayed after one year.

D. —
64
18. The figure shows a transformer that steps down mains supply { 240V) - what is the
voltage across the lamp? The transformer has turns ratio of 30:1
A1V
B.g§V
C. 80V N
D. 240v

19. Which of the following is an example of electric generator :

A. Loudspeaker
B. Circuit breaker
C. Microphone
D. Galvanometer

6 © SLNECB, 2017
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20. Electric power transmission is always done using a.c rather than d.c .This is because
a.c:
A. Can be generated easily

B. Can be changed easily
C. Issaferthand.c
D. Is cheaper than d.¢

PART TWO, STRUCTURED QUESTIONS. ANSWER ALL QUESTIONS

1. a) Define acceleration and give its unit. ( 2Marks)

........... 00001 161 BEEPIPIONEet 00000sc0100stdlilINIlIlarIPIPanIBPED I mmatanindslstdninisgassriainsmratsvnr

AR AN AR T AP IP I ¢ oot s msnnd b dl dRARIPIAdPIIAPIPIPEvP AP IR PITPY TS dhlkadiun idmamiElaEEEnw (R R R ] s mymR

b) A carincreases its velocity from 10 m/s to 30 m/s in 5 s. Calculate?
iy The acceleration of the car: ( 3 Marks)

e e N P R L N S PR Ty ) BedEPEIFIPRTITT VYT L L e R P R N P
...... B I I OEIAVE NP INI TP U Ot v PO 0T aIaRe RAIU IR IAIUPUEIIIEUPIIsérnmenmnnedgld I400dlNRIdRARANIoIROII0RT
--------------------------------------- SBIAINGLIICEE NI INIBIPIN] Im|yR)agsasms cacssbivdanietanivrdaniey
...... R T Y T P L T P T L Ty
----------- 92110y mcmcacc00A0NVIN 01 14100 RIVNOPIPereBiplproacaccacaldtbatitianacensnannsinasse
SelElreryNeNeVIP I == bucmpsmaatene (Y R AN PR T NP eermsgresmgnn 0600400000000 ¢0000Y01EINIBINTINIBINTYSS

iy Distance travelied: (3 Marks)

.................................... Pdrdtmsm s il il AT RA R E NP AR SR P I NI I AT ANEPIP I T " NIRRT Ir P
S PRI INOIIPBIPI NI IVEPS IR0 O 1P el t0eidrcdei004d00I0IalbicIdr INIeRIBIN INIEPEnInOERglquIYrioysBoylqgy
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jii) Average velocity: { 2 Marks})
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2. The figure shows the forces acting on a car of mass 800 kg. The motive force
from the engine is 2000 N and the drag force at this instant is 3200 N.

a) Explain why the car is decelerating. { 2 Marks)

------ PP AT AN I AN g NP AN PN R sy VNS E AR P v g e P PP I I NI AR n e pF FINRFN R Iy IR PN NLEA P ccpiuriNlabansyralad

b} Work out the net force acting on the car ? { 2Marks)
c) Workout the deceleration of the car ? (3 Marks)

140QPIEEdIET caclypINPERICPsvceo I OINtRIAl T IPiTiNanccnm mcdPiviladnse P I9LYIIE0dicvcaInpEPIrPicaatac aas

d) What would happen to the motion of the car if the force from the engine
balances the total drag force? ( 2 Marks)

---------------------------------- SPYPILEO IR r s LT INOESS0ncniu PN NEA0ddtlorUNIC0Id0dncaeAPINaESERA e

Bk e = I BV EOIEEC P P I IRIBIIbdA/CITPININININ LacueuEPPtEINREIA=cyPUPPoRidtracivp |PRERIdIAcdnmarirEranmace
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3. Ahmed is listening fo a radio. Complete the passage below using words from the
following fist :

RF carnet | Resanance | Tuner Sound ]
Aerlal Amphfier Energy Electrics! Frequency "'I

- W 1 - IR - 0, of radio receiver detect signels from many different
radio siations and converts into elecirical signals.

B. The .e.oooeei v ciinrneen.. . Se10C ( picks up) one particular frequency fram a
piven station by ...,

C. The demodulator decodes ths incoming signals by removing the
............................ leaving only AF signals.

D The ......cccceecreeveiennne.... inCre3868 the amplitude of these electrical
signals.

E. The ............ .ceuen........FEGQUIEd t0 do this is supplied by the baftery.

F. The loudspeaker converts ..........................aNnergy into

cevere.o..@8NECTQY. { 8x1.5 = 12 Maries)

9 € SLNECS, 2017
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4. The figure shows a transformer to step dpwn mains supply to light up the 36 w,

12 v the lamp.
fodih
® W, 12V
“l

A. What is meant by step down transform ? {2 Marks)

-

v¢ecvvcBPrr tviv? PasatacinIvee evPee)RecnanaLn, o 49401000 0c1CRuveva veeusscea matlssdcintonnsusomuniosl

-
IraiasanERIdEnremnny PatarNmaRPat man semamserrn PesimevsvarsnananImuIaE lapivamururennvew Pebtammamnway

B. What is the tum’s ratio of the transformer windings? {2Marks)
C. What current flows through the lamp? (3 Marks)

P 40 CL ey 19 I PINENCEIAICAN N4 PuPIPIPINOEREVEONIOPIaT u90 992 9CTA 0T INPINOI " 0EncprmosnTn 90¢puanssrcIse=c.

B. What current flows through the primary ooil? Assume no power joss in the
transformer? ( 3 maiks)

PO NO) (PIiNEEIwomg et i@+ 300 Pl NN 000l cpoyoyd(CNANCEN PR OENCRNNINATGINIRNITheIbbOPancvannes serdbinin
$4P2mcetIvI0P900atirm T mcmcmImanpr0ari$040A000 Rt nancens 0 030EACALICd (LY LaRIPIERNIEINICHIAIRIQEPIPIPS

016080 4ccc-AN4s0s091 0900 001RsEssbodscacivrroninn dldbédeclapocnarivdidbiniélialnrcce J00000000 8000 F 4
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5. Match the terms in column A with their descriptions in column B. (10x1 = 10 Marks)

A B
1 | Transverse A Maximum dispiacement from undisturbed position
2 | Longitudinal B The highest point of oscillating particles
3 | Crest Cc Particle oscillation is perpendicular to the wave
propagation
4 | Amplitude ___ D Number of waves per second
5 |Trough E.g G E Distance from crest to next crest
6 | Frequency 1 F Particle oscillation is paraliel to the wave propagation
7 | Period G Lowest position of oscillating particles
8 |Wavelength [ H Time for one wave
g | Speed | V=AF
i) Wave equation ____ [ J [ Bistance per unit time

6. Aload of 20 N is hung from a spring that obeys hook's {aw.

20 Ton
A. Write down hook’s law . ( 2 Marks)

lllllllllllllll PRIV ES N I IR AN by P N PRI IA NIl dbd A im s s e S P A FA P AN I NI NN

IEdbib oo em s g P P PP IdlaNaARLARAS PR F I IR IR A AR P I NP PP P PAIFIARTANNIA R Aelmbkovar

B. (f the spring stretches by 0.04m , calculate the spring constant? (3 Marks)

11 © SLNECB, 2017



Somaliland Natioral Examinatton Centificate of Sccondary Education
and Certification taard Physics Examination, 2017

C. The property of a spring to return its original position after deforming forces

are removed is knows as ( Elasticity, ductility ) . ( 2 Marks)
D. Calculate the extension if a force of 50 N was applied ? { 3 Marks)

7. A Define the term : " half life” of radicactive sample
(2 Marks)

lllllllllllllllllllllllllllll PP IR IS I I NAP I ISl ARIEIE LRIl e s mransms e s Pl ANbANIARIaNEdREd

---------------------------------------------------------------------------- WsesvEsIBL4n S

B. In an experiment to find the half fife of radioactive sample , the count rate
falls from 400 Bq to 50 Bq in 15 days. Work out the half iife of the sample.
(3 marks)

CLETYN] Sussnrerrerencancnsansnens 4ebetamcncareiee P i P I Iy NOIA0INIIRNIIBLidlncncypeme Yavdesur
Sfadadbbamymssm aruNPARINNEFINY BN ANNRANA s APY NI NS PN AT NP AN AA AN RS kn

----------------------------------------------------------------------- IR IR XL R TRy ¥ Y

C. Distinguish between the following nuclear reactions :
) H+PH ——>%He+ 'in
i) 235 U+ o'n -—D 36°Kr + "¥Bb + 3 (on)

{ 2marks)

12 © SLNECB. 2017



Sansalilsnd Nezlonal Examination Centificstz of Secondacy Educwion
sna Certification Buard Physics Examindtion, 2019

8. A) Define Momentum anad ghve its unit ( 2 Marks)

B. The equation miuy + mpuz = myvy + Mevs i3 malhematical expression for the law
of conservation of linear momentum. Cescribe the law in words, (2 Marks)

D R N N R R PR I N N T N R R R R N O S R R A L

regeeara sl8P-sevsciasoitrOncrmeroreiian Ye.1ecanr (XX - IR TR A AR IR PP INE L ]

C. A body of mass 10 Kg is moving at 4 mv/s . Calcuiate its momentum ? (3Marks)

Yetarstyrospocey » -

D.What wil happen icdhe momantum if the body becomes at rest. Tick one box:

Increases ]
O
Becomes Zero [:_]

Does not change { ] ( 2 Marks)

END

13 © SLXECS, 2013
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